AP Exam Review MC 2 #17-19, 21, #22(calc), 23-26, 28-32 NON-CALCULATOR except 22

Google Form MC Entry (14 questions)
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18, Let f be a function defined for all real numbers x. If f*(x)='—", then f is decreasing
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19. Let / bo a differentiable function such that f(3)=2and f'(3)=5. lf&emu..noun
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A table of values for a continuous function f is shown above. If four oqual subintervals of [0, 2)
aro used, which of the following is the trapezoidal approximation of I: S/ (x)dx?

(A) 8 (B) 12 (€)16 (D) 24 (B) 32
‘1
23. dew
.[. P
7 3 15 3 15
(A) == B) -~ ) == -
: (B) . © < tm‘ (H)m




dy

2.1 ym then Z -

.
dex?

- 6 '
(4 ' x’)

3
A
(E)

(441’)’ (44:’)’ (40:’)’
25, The function defined by f(x)ﬁ-l" 3 for all real numbers x has a relative maximum st x = 7
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30, 1f lim f(x)= L, where L is a real number, which of the following must be true?
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(A) f'(a) exists (B) f(x) is continuous at x = a (C) f(x) is defined at x=a.
(D) f(a)=L (E) None of the above
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32, The average value of f (x)= ¥ +1 on the closed interval [0, 2] is
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